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Answer any five questions.
All questions carry equal marks.
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1. Write short notes on any two of the followings :

(a) Explain and illustrate distinction amongst ‘motive’,

‘intention’ and ‘knowledge’.

(b) Distinction amongst the offences of ‘theft’,
‘extortion’ and ‘robbery’.
P.T.O.
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(c) Bring out the essential ingredients of the offence
of ‘dowry death’ under the IPC.
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Critically explain the test laid down by the Supreme
Court in Virsa Singh v. State of Punjab AIR 1958
SC 465 for invoking the charge of murder
under section 300(3) read with section 302 IPC.
Comment on principles in Kapur Singh v. State of
Pepsu AIR 1956 SC 654 and of Virsa Singh the latter

casc.
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3. (a) Bring out clearly the distinction in the degree of

rashness required under section 304A IPC and
that under section 304 part II, IPC for conviction
of offenders with the help of decided cases and

illustrations.

(b) The Supreme Court in E.K. Chandrasenan v.

(w)

State of Kerala (1995) 2 SCC 99 is critical of the
approach of the sessions court and the high court
in not appreciating the degree of culpability of the
accused and convicting them only under sections
328 and 326 IPC respectively. Examine the
approach of the Supreme Court in the above
decision and what were the reasons that stood in
the way of the Supreme Court in not convicting
the main accused under section 302 IPC ? Bring
out clearly the essential ingredients of section 326
of IPC.
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4. (a) Bring out clearly the distinction between the
requirements of the partial defence contained in
Exception I and IV to section 300 IPC with the
help of decided cases and also the similarity in

some of the essentials, if any, of two exceptions.

(b) Explain with the help of decided cases the legal
fiction of ‘reasonable man’ for determining the
‘grave’ and ‘sudden’ provocation and the concept
of ‘cooling down period’ for reducing the
criminality of an accused for murder to culpable
homicide not amounting to murder under Exception
I to section 300 IPC.
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S. (a) Clearly bring out ‘the salient features of the

Criminal Law (Amendment) Act, 2013 bringing in
changes in rape law and introducing some new
offences in the IPC in the category of offences

against women.

(b) You are required to decide the criminality of

Tukaram and Ganpat under Law as amended under
the Criminal Law (Amendment) Act, 2013 in the

following facts and circumstances :

Mathura, an unmarried girl about 18 years of age
was called to police station by the above named
policemen in respect of her role in a kidnapping
case. After she came out of the police station she
complained that the above two accused confined
her in one room and Ganpat undressed her and
before having penile penetration in her vagina he

inserted two of his fingers in her vagina. It was
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at that time that she was able to run away from
the room by forcefully pushing both of them on
one side. She stated that she could thus save
herself from being forced to penile sexual
intercourse against her will and without her
consent. She also stated in her statement to the
police that when Ganpat had overpowered her,
Tukaram was also undressing himself with intent
to have forced penile sexual intercourse with her.
Decide.
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* 6. (a) Bring out clearly the distinction and similarities,
if any, between the offences of ‘criminal

- ' ‘misappropriation’ and ‘criminal breach of trust’.

(b) Shyam was interested to take care of the fruits on
Apple tree till they were ripe when the farmer
owner would sell them to processing units for
manufacture of apple juice. Shyam cut the fruits
and disposed them of using the proceeds to set up
his own business with intent to return the proceeds
to the farmer owner after he settled down in his
business. Discuss with the help of legal provisions
and decided cases, what offence, if any, has been

committed by Shyam under the IPC.

P.T.O.
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7. (a) Bring out clearly the distinction between kidnapping
and abduction under the IPC. '

(b) Rakhi, a female, aged about 15 years, and Raj, a
male, aged about 15 years, were good friends in
the school. One day Rakhi proposed to marry Raj
but Raj did not heed because he was afraid of his
step mother who would ill-treat him. Rakhi visited
Raj’s home in his absence and came to know from
the servants that he was being ill-treated by his

step- mother and his father could do nothing as he
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was forced by his'parents to remarry after he had
lost his first wife i.e. Raj’s mother. Rakhi went
home and told her mother about this whole story
and sought her help in arranging for permanent
stay of Raj in their out house where he could
concentrate on his studies. Rakhi’s mother
expressed no objection should Raj agree to this
arrangement. Rakhi gave this offer to Raj and
told him that only after he settled down in his life

that she would again propose marriage with him.

Raj thought over the matter and finally decided to
shift to the outhouse offered to him by Rakhi
without discussing with his father anything about
this matter. When Raj did not return home his
father filed an FIR alleging that his son has been
kidnapped by Rakhi and his mother. Decide if
Rakhi can be held guilty of kidnapping Raj with

the help of judicial decisions and decided cases.
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‘ 8. (a) Najam represented to Kardam that he was a big
‘ estate-holder owning innumerable properties which
1 representations were not true. Kardam, believing
| the representation of Najam to be true, agreed to
| purchase an estate from Najam of which Najam
‘was not the owner, for a consideration which
eventually he paid after documents were executed
between him and Najam. Later on, Kardam came
to know that Najam had no title in the said
property. Kardam wants to proceed against Najam
under the IPC and seeks your advice as to what

offence, if any, has been committed by Najam.

You are required to advise Kardam on the issue

- of criminal liability of Najam, if any, under IPC.

(®) A & B had business relations between them.
Money admittedly was due from A to B. B entered
into the room of A and demanded in excess of.
dues. On refusal to pay more money B slapped A
and took all the money from the pocket of A.
Discuss the criminal liability of B under IPC.

(%) I9W 7w g8 Pwlig fean B 9w v w9 snRaust
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